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PAPER —I
T — 1

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T TS H U (50) - faeRed T T €1 T U9 6 a1 (2) 31k €1 |t Ul o W

it |
1.  Verbal guidance is least effective in the learning of :
(A) Aptitudes (B)  Skills
(C) Attitudes (D) Relationship
2. Which is the most important aspect of the teacher’s role in learning ?

(A) The development of insight into what constitutes an adequate performance

(B) The development of insight into what constitutes the pitfalls and dangers to be
avoided

(C) The provision of encouragement and moral support
(D) The provision of continuous diagnostic and remedial help

3.  The most appropriate purpose of learning is :
(A) personal adjustment (B) modification of behaviour
(C) social and political awareness (D) preparing oneself for employment

1. Tifes fde 9o die | agd w9 gret 2 § 2
(A) T=H (B) hI¥IA
(©) sfvafa (D) W

2. sifr H, foreres 1 ftemisii o1 wad AE@qYl U R T ?
(A) TR foshma T, St 9ot feares & T=ehi § aford 2 S|
(B) T=ifieh forehm o, Forad Wl wel ferdlt o et o % 9 == T 9 |
(C) YIcHmed Ua Afdeh e <H o1 Yae LT |
(D) Edq e Te STAR HREdl 1 Yelwel i |

3. i (wfem) o walfae Suged e © -

(A) SafTeh THRISH (B) HIER T TURRUI
(C) WIS TE TSI < (D) 799 Tl TSR & e TAR T
M —00 3 P.T.O.



4.  The students who keep on asking questions in the class should be :

(A) encouraged to find answer independently

(B) advised to meet the teacher after the class
(C) encouraged to continue questioning
(D) advised not to disturb during the lecture
5.  Maximum participation of students is possible in teaching through :
(A) discussion method (B) lecture method
(C) audio-visual aids (D) text book method
6.  Generalised conclusion on the basis of a sample is technically known as :

(A) Data analysis and interpretation

(B) Parameter inference
(C) Statistical inference
(D) All of the above
7.  The experimental study is based on :

(A) The manipulation of variables (B) Conceptual parameters

(C) Replication of research (D) Survey of literature
8.  The main characteristic of scientific research is :

(A) empirical (B) theoretical

(C) experimental (D) all of the above
9.  Authenticity of a research finding is its :

(A) Originality (B) Validity

(C) Objectivity (D) All of the above

10. Which technique is generally followed when the population is finite ?
(A) Area Sampling Technique (B) Purposive Sampling Technique
(C) Systematic Sampling Technique (D) None of the above

M-00 4



4. S BT Fa H HATA IR W@ €
(A) 3% Ea7 9 ¥ W UG HH o fog Yieaniea foran ST = |
(B) &N o 9IS 3TEATISH ¥ THE i WS o Sl =1y |
(C) 3% THM HaTel YBd & sl Uicwfed foham S =nfe |
(D) SAAH o o1 | 9141 7 S[e i {8 &l S =gy |

5. BE I sifeeRan fawfir daa §
(A) ==l fafy g (B) =M fafy gra
(C) F=a-339 TIEAl §H (D) UeA-J&iehk fafyr gr

6. fou=a (Fuat) & YR W fHepret T ferd M S ® -
(A) 3TER |t fagersor qen fe=H (interpretation)
B) WA (WHieR) eTHM

(
(C) Wit gaH
(D) ST |t
7.  TANCHS S1FFA % 1| | enaif@ 29 7
(A) TfEdf (variables) H oS (B) H=Ifeh TR

(C) MY o1 9fdshfd (Replication) (D) WfE sl Fe&l

8. Ak THYM & q&A tfiycrer €
(A)  SFIHETHd (B) Fsifaw
(C) wrEAfTH (D) SwrE a+ft

9.  STTHUM i WIS i YT F+R et ©
(A) Hifetshdr W (B) dud W
(C) =B ™ (D) SR |t

10. & SHEEA HHA (finite) 81 T i §f Toh1eh 3T ST & 2

(A) &3 gfa=ad dehish (B) ER¥A fd==H dehrich
(C) whHeE Ufd=ad qeohish (D) 3TH 9 =S &I
M —00 5 P.T.O.



Read the following passage and answer the questions 11 to 15 :

Gandhi’s overall social and environmental philosophy is based on what human
beings need rather than what they want. His early introduction to the teachings of
Jains, Theosophists, Christian sermons, Ruskin and Tolstoy, and most significantly the
Bhagavad Gita, were to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for
the disadvantaged, the poor and rural population created an ambience for an alternative
social thinking that was at once far-sighted, local and immediate. For Gandhi was
acutely aware that the demands generated by the need to feed and sustain human life,
compounded by the growing industrialization of India, far outstripped the finite
resources of nature. This might nowadays appear naive or commonplace, but such
pronouncements were as rare as they were heretical a century ago. Gandhi was also
concerned about the destruction, under colonial and modernist designs, of the existing
infrastructures which had more potential for keeping a community flourishing within
ecologically-sensitive traditional patterns of subsistence, especially in the rural areas,
than did the incoming Western alternatives based on nature-blind technology and the

enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active
non-violence, derived from the traditional moral restraint of not injuring another being.
The most refined expression of this value is in the great epic of the Mahabharata,
(c. 100 BCE to 200 CE), where moral development proceeds through placing constraints
on the liberties, desires and acquisitiveness endemic to human life. One’s action is
judged in terms of consequences and the impact it is likely to have on another. Jainas
had generalized this principle to include all sentient creatures and biocommunities
alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects

and even bacteria. Non-injury is a non-negotiable universal prescription.



11.

e fora TemsT Wt ufgw 3 11 @ 15 & & TF1 &7 39 T

TIEST <k GrIfSTeh o TATeR0T S FeUTE ®9 W, AL 941 9d § W ST | 8,
ITHRT STTTIHRATS T LN 1 S & R § S, e, $an o Jusel, er
SR TeeT ¥R T WeEY wrEer % U 3 S HAE o, S 56
AR STTeHe Y o fHdT I e YWIE Sl | HIETRA THI0 Sl o 9fd 37k 7 H T
Aehfeues T a1 foar o, S gReell, T iR dichifers o | TSt 39 9[ 9
T TE STE A o Wi Sareei i ger §, ST o feTT ST e st HiT el S o,
AR STEmieer 4 34 TR Sifedt o1 faon o1 =% o 7S St | TR el ot © aifed
T VAT Tt I8 SR HHeTE St forat oft | Tiefist snyferarand, sirafrafees sedw &
ST, TR % Ui Hoeeie Hieel e % famre it svieh & feifad 91 57 e et o
SROT TIOT Y YRRk Afd & HO oM Y STIR HATaAY off foeie w9 9 amdtor & o; s
T ST T iR I S SAHeTel oshicadh e afeee et & |

I TSt k1 i Afaek fagid Ted eifersk ST < §, 98 © WfeRa sifeen, gE il &
T T U], RN Ak GaH ¥ I | 39 od i Gt uiishd sifieafa gerera

TS (100 ¥ 200 2.9,) | fHerdt & STl ga e st FRaR wadaaet, sl ik @ug &
SR 0T TR | Ak fenme 21 8 | 7T o il o1 Jodishd, QO o S SHe! 1 Y9
TS THH HIUT @R | S A 39 fogid w gus S a1 stesigsti ) 9HE ®9 9 o]
fren &1 stuit S g7 SR fusgfort shei 9 FiHei #t g 7 & safae T &1 95 ¥ 9ord § |
A wrededi oW B, 59 W 1 wweian T & e |

frefafed & @ st &t Ao, Y ok 359 TaieRer ¥ iqeds sl & qaardt foamem &
foreRTd & S Tohdeht T8 999 vl © 2

(A) S foremsti = (B) HE Ya=l I
(C) AT <l (D) &ha IR eHer il
M-00 7 P.T.O.



12. Gandhi’s overall social and environmental philosophy is based on human beings’ :
(A) need (B) desire
(C) wealth (D) welfare
13. Gandhiji’s deep concern for the disadvantaged, the poor and rural population created
an ambience for an alternative :
(A) rural policy (B) social thinking
(C) wurban policy (D) economic thinking
14. Colonial policy and modernisation led to the destruction of :
(A) major industrial infrastructure
(B) irrigation infrastructure
(C) urban infrastructure
(D) rural infrastructure
15. Gandhi’s active non-violence is derived from :
(A) Moral restraint of not injuring another being
(B) Having liberties, desires and acquisitiveness
(C) Freedom of action
(D) Nature-blind technology and enslavement of human spirit and energies
16. DTH service was started in the year :
(A) 2000 (B) 2002
(C) 2004 (D) 2006
M—-00 8



12.

13.

14.

15.

16.

TefiSf 1 HAUTE QISR o AR g9 I i TR TR T
(A)  STETIRAE (B) T=SH
(C) (D) e

TS st HIEFEN A, T Te U0 ST o 9fd el e 9 foe denfeden sereen o
foar q91?

(A)  TrHToT Hifd (B) HMISR i
(C) vl Hifa (D) e feam
sirafrafiren Aifa TR smyfrertarton I fo T st IR o 7T |

(A) Toeme sirenfies senfier weam (B) TH=mg smenfien Hw=m

(C) W&l SHTes HTEHT (D) TTHTOT STEfeh W

TS Y wfera sifden T T B |

(A) TH A I = T gga &1 Afae g

(B) G, SoOT SR WUl 1 BT

(C) E T & LAl

(D) Yehid o faeg Siet TorIcilsil qel |G STIcHT T ikt hl SE M

1.3, T=. a1 1 RY 19 a6 § ga|

(A) 2000 (B) 2002
(C) 2004 (D) 2006
M —00 9 P.T.O.



17. National Press day is celebrated on :
(A) 16th November (B) 19t November
(C) 215t November (D) 30t November
18. The total number of members in the Press Council of India are :
(A) 28 (B) 14
<© 17 (D) 20
19. The right to impart and receive information is guaranteed in the Constitution of India
by Article :
(A) 19 (2) (a) (B) 19 (16)
© 19 @) (D) 19 (1) (@)
20. Use of radio for higher education is based on the presumption of :
(A) Enriching curriculum based instruction
(B) Replacing teacher in the long run
(C) Everybody having access to a radio set
(D) Other means of instruction getting outdated
21. Find out the number which should come at the place of question mark which will
complete the following series :
54,9,17,35,? = 139
(A) 149 B) 79
©) 49 (D) 69
M-00 10



17. T 49 foad oemn S ®
(A) 16 7TEsR =l (B) 19 TEeR =l
(C) 21 TR H (D) 30 TelsR !
18. U9 Hisioct 31 et ¥ e S B ® ¢
(A) 28 (B) 14
© 17 (D) 20
19. G 37 SR U F 1 ATIHR T MRS IR % Higem ot o H F w T
(A) 192 (a) (B) 19 (16)
© 192 (D) 19(1) ()
20. oA foran ® Yea 1 suam frafafed smenfie w7
(A) TEIA T STEMRA ST Bl T HLAT |
(B)  3fdd: STEATIH ohl TG HEA |
(C) ¥I® & I e e 7
(D) Sl % TE WEF g0 U Tk €
21. @ TR IS H g 9= (2) kS W 8 i fafau
54,9,17,35,2 = 139
(A) 149 (B) 79
Q) 49 (D) 69
M —00 11

P.T.O.



Questions 22 to 24 are based on the following diagram in which there are three
interlocking circles I, S and P, where circle I stands for Indians, circle S for Scientists
and circle P for Politicians.

Different regions in the figure are lettered from a to f.

o—



22. S &5 T sfeam (A4 sfeam) amnfaent sl <wifar & S TsHifaa © ¢
(A) f (B) d
(C) a (D) ¢
23. 9% &5 S, feear € fo 9 = 1 Sentes § 8i) = qeifag -
(A) g (B) ¢
Q) f (D) a
24. 9% &3 W, fetetar € S sfeam ® oI S o ® ¢
(A) b B) ¢
Q) a (D) d
25. Taefafad st § &9 91 3is g 82
2, 5,10, 17, 26, 37, 50, ?
(A) 63 (B) 65
Q) 67 (D) 69
M-00 13

99T 22 ® 24, 71 7@ forF o swenfia & (79 @7 Waw qag g (circle) T, ‘S’ 3K
‘P g faad gw 1 ‘3feaT’ & g & 1S ‘arsfeve’ & forg silv P’ itereiivaT @& g

fafa &7 a @ f gRT g9 7T &1

P.T.O.



26. The function of measurement includes :
(A) Prognosis (B) Diagnosis

(C) Prediction (D) All of the above

27. Logical arguments are based on :
(A) Scientific reasoning (B) Customary reasoning

(C) Mathematical reasoning (D) Syllogistic reasoning

28. Insert the missing number :

4:17::7:7
(A) 48 (B) 49
(C) 50 (D) 51

29. Choose the odd word :
(A) Nun (B) Knight

(C) Monk (D) Priest

30. Choose the number which is different from others in the group :
(A) 49 (B) 63

Q) 77 (D) 81

31. Probability sampling implies :
(A) Stratified Random Sampling (B) Systematic Random Sampling

(C) Simple Random Sampling (D) All of the above

M-00 14



26.

27.

28.

29.

30.

31.

9 % Yot | witferd €
(A)  IEAITEE (YFEH)
(C) Ufewm (IFIf®)

dfeher fer smenfia €
(A) IR G W
(C) TIfUrd ek ™

I g AT
(A) 7 (Tuggoit)

(C) Woi (Hi=h)

o | foe S sl g
(A) 49

(C) 77

HqTeTdT Gi=ra= o 3T9E ©
(A) EHIAFES g Ffd=aq
(C) W Fgf=seh gfd=e

M-00

(B)

sIAEE (fem)
ST T4t

YT deh T

IR doh T

49

51

HER (MR)

63

81

e Ao gfa=rad
SR Ft

P.T.O.



32. Insert the missing number :

36 39 43 48 o,

4 4 4

62 63" 61 64

A 2L 2
A) & ®
o 2 oy 2
© @ D) &

34. Mary has three children. What is the probability that none of the three children is a

boy ?
1 1
(A = B 3
3
© 3 (D) 1
M — 00 16



32. <« 3iehi bl WRT :

36 39 8 48,
62" 63" 61" 64

51 56
(A &5 B)

54 33
© & D) o

33. 334 o & <9 wSl i geai faedt feumed # i 2
(A) 3 &SR 40 fAe W (B) 3 &L 45 fie ™

(C) 3 st 50 TAe ™ (D) 3 SSieht 55 T W

34, U F A o €, THH! N G § TR ST 9 B off et T ¥ 2

1

1
(A) B) 3

3
© 5 (D) 1

35. afe fhdt 99 % 1= 1 50 Ufawrd =@l faan < df SHe &1 =g W ® ¢
(A) 125 gfderd (B) 100 Hfawrd
(C) 75 gfaerd (D) 50 gfderd

36, GElL THH A T

(A) HHX fewk e Al a9

(B) U fewm e o #HN
(C) iR fewr T 3iHelt
(D) HHX fewk e X A9

M-00 17 P.T.O.



37. The ‘brain’ of a computer which keeps peripherals under its control is called :
(A) Common Power Unit (B) Common Processing Unit

(C) Central Power Unit (D) Central Processing Unit

38. Data can be saved on backing storage medium known as :
(A) Compact Disk Recordable (B) Computer Disk Rewritable

(C) Compact Disk Rewritable (D) Computer Data Rewritable

39. RAM means :
(A) Random Access Memory (B) Rigid Access Memory

(C) Rapid Access Memory (D) Revolving Access Memory

40. www represents :
(A) who what and where (B) weird wide web

(C) word wide web (D) world wide web

41. Deforestation during the recent decades has led to :
(A) Soil erosion (B) Landslides

(C) Loss of bio-diversity (D) All the above

42. Which one of the following natural hazards is responsible for causing highest human

disaster ?
(A) Earthquakes (B) Volcanic eruptions
(C) Snow-storms (D) Tsunami

M—-00 18



37.

38.

39.

40.

41.

42.

IR T HiEsh S R (TRREed) 1 o0 | W § 39 @hed ©

(A) A TEX gfie (B) hIHA UTHT e
(C) Fwgel WeR e (D) Gz wEfHT gfe

T2 ol GRed WR w1 o faw o/ Arem o6 sxde e ¥ 39 Fed €

(A) Fx femp fidaa (B) FHX fewr famesa
(C) FHix femr fEeaa (D) FIXR A FEeaa

W (I TEA.) o 3 2

(A) Ter U HHh (B) RiSe tww vl
Q) e TFw TEk (D) Rerfeam T TuRt
Toq] T S] T A1 §

(A) BEEUE X (B) faug ame e

(C) =€ drEE s (D) oIeE AES o

BT % I B STl o e ol qRom fefafed gen ® ¢
(A) SL-&T (B) -F@eH

(C) Stafafau =t afd (D) ST Tt

o for wrehfaes @i & A o waifes afd & fog Swert 7
(A) shd (B) ST I Fel
(C) FHid TEE (D) gt

M-00 19

P.T.O.



43. Which one of the following is appropriate for natural hazard mitigation ?
(A) International AID (B) Timely Warning System

(C) Rehabilitation (D) Community Participation

44. Slums in metro-city are the result of :
(A) Rural to urban migration (B) Poverty of the city-scape

(C) Lack of urban infrastructure (D) Urban-governance

45. The great Indian Bustard bird is found in :
(A) Thar Desert of India
(B) Coastal regions of India
(C) Temperate Forests in the Himalaya

(D) Tarai zones of the Himalayan Foot

46. The first Indian Satellite for serving the educational sector is known as :
(A) SATEDU (B) INSAT-B

(C) EDUSAT (D) INSAT - C
47. Exclusive educational channel of IGNOU is known as :
(A) Gyan Darshan (B) Gyan Vani

(C) Door Darshan (D) Prasar Bharati

48. The head quarter of Mahatma Gandhi Antarrashtriya Hindi Vishwavidyalaya is situated

in :
(A) Sevagram (B) New Delhi
(C) Wardha (D) Ahmedabad
M—-00 20



43.

44.

45.

46.

= fora § | wiehfaek Taer ¥ o= & fa ®iF oy 3uged § 2

(A) ST F@Ea (B) EHIA W At

(C) gTa™ (D) HHGIHeh AUl
HERTR # gii-giareat foreent wfom &2

(A) e & I i SR qeEE (B) IR % F & H Tl
(C) el H SAFT=A o S (D)  Yd-feme

e gfea TS’ el urE S §
(A) YRA % IR HEEIA H (B) ¥IRd % HHg T &l |
(C) fenTer o wHefiare &l d (D) femmem =t U &= |

aRa | foren & & H Fan H yga vgen | Jeremse’ i 72

(A) THTIAIET, (B) T -t
(Q) I THTI (D) T - ©t
47. ‘T’ 1 TEHAA el e = AW €
(A) AT (B) I =IOt
(C) TR (D) YER YRt
48. T T SR fedt fava fomrmer &1y wel feua €2
(A) Temmy (B) % fawedt
(C) aHi (D) STEHSEIS
M —00 21

P.T.O.



49. Match List - I with List - II and select the correct answer using the codes given below :

List - 1 List - 11
(Institutes) (Locations)
(a) Central Institute of English (i)  Chitrakoot
and Foreign Languages
(b) Gramodaya Vishwavidyalaya (i) Hyderabad
(c) Central Institute of Higher Tibetan Studies  (iii) New Delhi
(d) IGNOU (iv) Dharmasala
Codes :
(@ b © @
(A) @@ @ (@v) (i)
(B) (v) @) @) @
(€ @) @) @O ()
D) @ @) (@v) (i)

50. The aim of vocationalization of education is :

preparing students for a vocation along with knowledge
converting liberal education into vocational education
giving more importance to vocational than general education

making liberal education job-oriented

-00o0-
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49. e -1 Gt - 11 9§ fiad g fu 73 &l 1 TN otk 921 S S |

et - 1 e - 11
(FEITH) (37T TIT7)
(a) W ¥feeege o e () foge
TUE HRA A
(b) T favafermer (i) TEUER
() H=d feege Ak FRR foaed = (iif) T faeedt
d T (iv) R
Hig:
(@ b (o (@@
(A) () @ (v) (i)
(B) (v) () (i) ()
(© () (v) @ @)
(D) @ @G (v) (i)

50. et & Seiehor 1 Se¥d i |1 ?
(A) BEI & I & 1Y FIEE 6 fAC TR FA |
(B) <R fuen =1 =reranfyek foan § ager|
(C) T fren o S SedTaeh s o SAel SR <

(D) TR foe =l FEEEFE s |
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